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Choose the correct answer from the following: 1X20=20
1. _____function of attitude helps people to make a stable, meaningful and
organized view of the world.
a. Ego-defensive b. Adjustive
c. Knowledge d. Value-expressive
2. According to F.H Allport, attitude are classified into:
a. Three category b. Two category
. Four category d. Five category
3. Prejudice helps an individual to justify his:
a. Attitude b. Hostilities
c. Norms d. None of this
4. Which among, the following, is not a component of attitude?
a. Cognitive component b. Emotional component
¢. Behavioral component d. Educational component

5. The person who agrees to a small request initially is more likely later to comply with a
larger demand. This describes the:

a. door-in-the-face-effect b. footl-in-the-door effect
c. low-ball technique d. high-ball technique
6. Physical attractiveness is most involved in which of the following aspects of persuasion?
a. The source b. The audience
¢. The message d. The media
7.8 Rrejudice isaaet e terovees g
a. Acquired b. Overtones
c. Irrational d. All of the above
8. The effect of group size on conformity has been explained by................ theory.
a. cognitive dissonance b. social norm
c. psychological reactance d. social impact
9. The____ _give direction to our behavior.
a. Attitude b. Thinking
¢. Memory d. None of the above

10. Solomon Asch's classic experiment (in which subjects judged a standard line and
comparison lines) was arranged to test the limits of:
a. social perception b. indoctrination
C. coercive power d. conformity
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